
GK bR‡i 

 

†Rjv cwil` kixqZcy‡ii ¯’vei m¤úwË 
 

422.82 GKi 

 

 iv Í̄v  =  337.47 GKi 

 Lvj  =   46.33 GKi 

 bqbSzwj  =   13.12 GKi 

 gvwUqvj  =    0.64 GKi 

 evMvb  =    2.38 GKi 

 evwo wfUv  =    3.33 GKi 

 cyKzi  =   13.24 GKi 

 ‡`vKvb  =    0.46 GKi 

 wmKw Í̄  =    0.44 GKi   

    †gvU     =  417.41 GKi 

 

 ‡Rjv cwil` feb   =   3.21 GKi  

 †Rjv cwil` †KvqvU©vi = 46.33 GKi 

     WvKevs‡jv 

 (K) m`i   =   0.38 GKi 

 (L) bwoqv  =   0.57 GKi 

 (M) RvwRiv  =   0.23 GKi 

 (N) WvgyW¨v  =   0.30 GKi 

 (O) †f`iMÁ  =   0.31 GKi 

 (P) †MvmvBinvU  =   0.23 GKi 

                     †gvU     =   5.41 GKi 

 


